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y=3.75

S HBLUSEROME® rso
m Br1) 4:3 (2) 12em

(3) 9cm (4) 18cm
EEZ WP (l) ABCERFGHAMELTWS
D, Ak, 20:15=4:3
(2) EF=xcm &¥3&,

16:2=4:3
dzx=48
x=12
Bri1) 2:3 (2) 12.6cm
(3) 6em

EFoP(1) DOB OB MBI LTWAS
OT, WAL, §:12=2:3

@ By 0 (2) 60°
- 2
@ 5

4) 9cm {5) 8em

€EEFI» 1) LEIHBELTWABDIELBT
HBo
(2) ZC=4£F=50°
o7,
£A=180°—T0°—50°=60°
(3 BC:EF=2:3k9,
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FRELWIEFVR D,
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EEF»(l} LADE=180"—50°"—ZA
ZACB=180°"—50°— ZA

LT, ZADE=/ACB
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EoT, 2HOABRERENRE
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Ep(l) ZBED (20 AEBD
e (3) 2HOBFEThFhELL
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(2) AABC & AEBDT,
Z BiddtE,
ZACB=/EDB=9("
EoT, 2HOANENENRE
Lwhs, AABCwAEBD TH
Bo
Bp{(l) ZACE
(2) £BFE, £CFD
(3) AACE, AFBE, AFCD
4) 2HEOANFThThEFELL,
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£o7T, ZABD=ZACE
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3 DADLE
EBD
DEB
A
4) B AABO EACDOILHVT,
e BELY,
ZLABO=2£CDO =+ ®
T, WIRAEZELVLESG,
Z2AOB=2COD +++@
@, ®&Y, 28OAFEThTFhEL
VWS, AABO®ACDO
{2) 12em
EE»(2) B BO LHADOYFHIELT
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2HDOTADEEZOROA
CBD
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&EBD»(1) AB:CB=25:10
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BC:BD=10:4
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(3) DC=xcm &T3&,
20 :x=5:2
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B»CBD BCD B
2#MA  CBD

 Bp() =2 (2) x=6
w z=2105)

(5) x=14 (6} x=16
€EEFH»(1) AABCAAED L1,
z:15=30"18
x=2b
{2) AABC=ABDC LB,
r:3=4:2
=56
{3) AABC«wADBE X1,
. 6=12:8
r=9
(4} AABC»ADBA &9,
14 :x=16:12¢(=12:9)

=2
2

(3) x=9

(5) AABCwAAED X0,
x:7=16:8
x=14
(6) AABCwADAC &b,
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(3) d=bc X,
@=5x20=100 @=10
3} &0 TBA () 2DB

(3) 145—cm (18.75¢cm)

€G> (3) AB:DB=BC:BA XD,

15:12=BC : 15
5:4=BC:15
4BC=75

BC=74—5(cm)

4} E»(1) BEC C
-t 280 BEC
(2) 3em
Ewar(2) AADCeABEC &1,
AC:BC=DC:EC
DC=xcm &% 3 &,
6:8=x:4
Bx=24
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— 2HOIADIEZOEOA
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 EBp(1) 280D E ZOROE N T

hFh&ELw
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(2) 3:2 (3) g em

EET»2) WABLAEBHHELTHS
DT, PR, 6:4=3:2
(3) DE=xecm k15 &,
hix=3:2
3z=10
=10
3
@ Br(1) 40° (2 ADBA

€EBDP(1) LBAD— ZBAC
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4) BEr 72
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DBC
C
2HDAE
BDC
BC DC
BC
€EFH» L ABC= (180°—36°) +2=72°

ADBC=%><72°=36°

1] EEREHEEE® s

B»(1) AMOB
(2) 28BOAFZTHhTFRFLL
(3) 2:1  (4) 2:1 (5} 6em
CEFo» (1), (2) AD/BC L b, sifahs
LwZ %45,
(3) AD=BC=2BM
(5 OD:0B=2:14&¥9,
BD:0D=3:2,
BD=9cm #Zh 5,
9:0D=3:2
30D=18 OD=6(cm)
 BrCc 60
EDC
ADC
28BOA

ADC
@Nl) Sem {2) 9em

€EEFHI»AD/BC L, 2HO/PBERE
h&ELwnhs, AAOD«ACOB
AL, 6:12=1:2
{1} AO:CO=1:2%kpn,
AO:AC=1:3
(2) DO:BO=1:241,
BD : BO=3:2
. &P ECF
® B(ABE) C(ECF)
AEC

CEF
D(ADF)
CEF
2R
ABE ECF
€EEF» -, CEF#FEC:#ELTLER
&35,
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B»i1) MEH (2) 2£F
(3) 2:3 (4) 8em (5) 7.5cm
€EFH» () I ABCD L mAFEFGH
DML 2: 3 THED D,
BC:12=2:3
3BC=24 BC=8(cm)
(5) 5:HG=2:3
2HG=15 HG=7.5(cm)
Br(1) ABOC
e (2) 2HMOANFThEFhELN
3) x=9 (4) y=15
€EEFH»2) AD/CB L b, %Ly
75, £DAO=~2CBO
%7:, ZAOD=/BOC Th 2,
(3) x:135=6:9
z:1135=2:3
3x=27
r=9

ErACD
=¥ ACB ADC
A
28D
ABC  ACD
Br1) 280mrEhThEluy
=% (2) 2:1 (3) 16cm
CEE»(2) MACLIAADHHIEL TV
A, MR, 12:6=2:1
@; E&»(1} AFBD, ADBE, AFDE
™ (2) 10em (3) 3em
EEFH»(2) AABCAFBD X hkod 5,
(3) AB:FB=AC:FD
4: (CF+5)=1:2

CF+5=8
koT, CF=3(cm)
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BFFRFRELLSS,
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DC=xcm &£ T35 &,
10 1 x=4:3
4x=30
x=1.5
@ B»(1) AED
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A
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{2) 12em (3) S5em
(4} &r(1) AABCELAHBAILHWT,
RELY,
ZBAC=£ZBHA=90° ++»+(D
Fie, LBIIEE e @
@, @&Y,
OB EFAFNEL LSS,
AABCo»AHBA
(2) 12em
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(3) AB--3cm BC--20cm
@ Er(l) 4em (2) 40m
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@e

(3) 10mX-=—rr 100 10m=10cm

EEF> IO LELL Q2 JT, 20ES
odty, Ligozenent s,

18 18EOFIA® P32-33
B0 5 Tem

2000 ~3.5em

{2) 80m P,

35cm

WP (2) o OHET, AB X 3.5em

2000
L,
PA' #ill5 &, PA'=4dcm
L7%oT, PA=80m &% 3,

@ Br53m

2 2 75 ) Sk ﬁ r r
+5L,
P'A'=5.3cm L
[
L7=%o <, A 6om B

PA=53m

- BP17.6m
A’ B

7.5cm

P o

A 44cm B
1
EEIIP R g LT B L,

P'Q=19cm
L7935 T, PQ=19m

Ep-19m

16 18LlnFIA® P34-35

1
By 00 {2) 16.8m

{3) 18.3m B
CEFDIPBR 25 L,
B'R'=4.2cm
L7357,
BR=168m ¢ ~— "R
kb,

@ Ep495m

BB iRt T LT BE,

QR'=4cm &% 5,

BR #ilis &,
BR'=4.8¢cm
LizdioT,
BR=48m o tom R
HoEEAE1omAEds, FLEE
DB S1349.5m

@ Bri2.5m

-wﬁ‘m&mama

RS=2em &% 5%,
BT %5 &,
B'T'=2.2cm
L2 oT, g _obpe 0
BT=11m 2cm S’
BOEIRLEm RS, *@%‘é
{X12.5m

E! Er34.8m

p— Q'

60°
Scm

50°

Al B
>AQ=18 5--1.5=20(m)
WRE—— 400 L935E, AQ=5cm

b, AB %H|L L,
A'B'=8.7cm

L7242 T, AB=348m

17 FITHREFBD DD p3s 3

E»ABC
ABC

A

2 0OA
ABC

AC DE

@ .P 6cm (2} 54cm

€&EFH»1) DE/BC Lo,
AD: AB=AE : AC
6:9=4:AC
6AC=36
AC=6(cm)
(2) DE#BC &0,
AD : AB=DE : BC

2:3=DE : 8.1
3DE=16.2
DE=5.4(cm)
B»(1) AEDC
25
(2) x= 48(5) (3) y= 3

€&EFH»(2) AB/DE L1,
AC:EC=AB: ED
z:8=6:10
10x=48
x=4.8

Br1) 2= 75(125) (2) z=18
@ r=6 W z=15(2)

€&E39»(1) AB/CD LY,
OC : 0OA=0D: OB
z:12=5:8
8x="60

_ 15 _
x=-3 =75

(2 AB#CD &9,
CD: AB=0D: OB
5:12=75




5x=90
=18

168 FTHR &R DLE) P38

E»DBF (B)
BDF
2HDAE DBF
DB DF
B8rEC
6 3 (2 D
2
Br) r=4 (2) =16
¥ {3) x=3 4) x=12
GEZD»(1) AD:DB=AE:EC k¥,
8:x=6:3
6r=24
) r=4
(2) AD:AB=AE:AC LY,
6:2=9:24
Or=144
: =16
(3) AD:DB=AE:EC LY,
20:4=(18—x): x
20x=4(18—x)
24x="72
xr=3 _
(4) AD:DB=AE:EC LY,
6:4=x:8
S dp=48
r=12

Bl (5—x):z=2:1
"2 z=5 (3 %cm'

GBI 15:2=3:1,
15: (15—x)=3:2 %1,
(2) 2r=15—x
Jx=15
x=5H
(3) AADEwAABC &b,
AD : AB=DE : BC
DE=xzcm & ¥ 3 &,

2:3=x:10
3x=20

.Z:"'g"

18 FITREBMABDLE® P04

m EBrAG GH
FATEIH

DE EF
EF

@ 25| 2 cm(—g—cm)

€&E¥r(1)L », AB:BC=DE : EF
EF=zxcm &35k, .
8:6=6:'x
x=4.5

@ .Hl =8

-Hl 12:x=9 ' 6

9x=172
x=8
(2) 4:8=2:10
8x=40
x=5
B A _—8ecm—_ D
6cm dem
P, E Q
4cy\—\zcm/\
B( F C

13cm

2 %cm (3) 8em {4 5cm

(5) 3em (6} x=11
CEFD»(3) AR AEQD I FITMARK,
4} (3)& » EQ=FC=8{cm)
BF=BC—-FC=13—-8
=5(cm)
(5} AAPEwAARF &b,
AP : AB=PE : BF
6:10=PE : 5
PE=3(cm)

(6) z=PE-FEQ=3+8=11{(cm)

_@_@ EFREBRTDOEG ra2s

1) Byl AQ AC
2HEDIDEEFOEDE
ABC

@ Bri1) x (2) x 3) O

@
P
P
A B
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A B
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A B

D Qe

E] Brd o By /
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B A QO QQuB

X

CEFPD EAREHEEMAX VW,

SHRCEP, -, Pk &b,
@ BEP:B&EHMN
@ HEP kiEY, HMPB &IET

REMECE, BMOABEOREL
BQETH,

Qo Qi QI2VWTHHFRT
Hba

gl F TR EBRPDH®E raess
>x=3.75(~1&-5~)

EEFI» AOACT, DE/AC kD,
0D : QA=0F : OC
x:.6=25:4
4zx=15

z=22=375
@ &) 3em 2) 2em
" {3) 9c¢m 4) 4:3
EGEFH»(1) Al:IC=1:24DY,
Al AC=1:(1+2)
Al:9=1:3
Al=3{cm)
(2) EJ/#AL X B, AOAIT,
OE : OA=EJ: Al
ElJ=xcm &7 4 &,
2: Q2+ =x:3
3r=6
xr=2
(3) AOAIT, EJ/AL LD,
0] : OI=0E : OA
Ol=xcm &35 &,
6:x=2:3
2r=18
x=9
(4) JGH/IC & ¥,
JG:IC=0G:0C
=0E : 0A=2:3
JG:6=2:31X9, JG=4
JGHAL LY,
AJGK en ATAK
JK 1 KI=]G : Al
=4:3




Br(l) 3:5 {2) 3:5
(3) 9.6cm(-45—8cm)
(4) 12.8cm(%cm)
(5) 5:8
SGIHI»(1) AC:AE=3: (3+2)
=3:5
(2) AAEFT, CG/EF X
CG:EF=AC: AE
=3:5
(3) CG=xcm &¥5E,
3:5=x:16
br=438
=48
5
4) AFABT, GD/AB &
GD : AB=FG:FA
=EC:EA
=2:!5
GD=xcm &35 &,
2:5=x:8
hx=16

x=£’—
5

& oT, CD=CGH+GD

=0.6

48 16 _
=5 t7%

=128 {cm)
(5) 8:===40:64

, &3»BCED
s 261k
AB BC
EC
A'B BC
AB BT

£ hREEEED

D,

",

64
5

P.46-47

BrAC AN
Y ot o): AL I0] i [2):

AMN
BC

AMN
@ BEr 6cm

vy, MN=%~BC %Xlz

=6(cm)

@m) dem  (2) Sem  (3) 50°

(= % 77 ) 300 AD=-%—AB=%X8=4(cm)
by
2

Bc=% X 10=>5(cm)

(3) HNMEEEERLD, DE/BC
FfEAIZELWOT,
ZB=/ADE=5("
ﬂ' BEp{l) 6cm (2) 4em
(3) 10ecm
€EFDP»3) EG=EF+FG=6+4
=10(cm}
B8ri1) 3cm (2) 9cm
(3) FEITHBEF
€E¥H» 2} DF+DE+EF

=L 1 1
=5 BC+ 5 AC+5 AB

=3+2+4=9(cm)

(3) DE#AC, DF/BC &9,
DE/#FC, DF/EC &% b, 2
BN ABENETNTTTH b

(2) DE=

A hELESEIE®  rasw

Ep(1) 6em (2) PS, QR
(3) F4TPQAMH
CEF¥I>(1) AABCT, mpiligiEsL b,

PQ= %AC

(2) AABDT, PS/#BD
ABCDT, QR#/BD
(3) PS/QR, SR/PQ
Bri1) 5¢cm  {2) Tem
(3) 90° (4) 90° (5 EBHE
EEFory), 1) ULEORARITERIIR

ba & lb,

ACIZPS, BD, QR L TE,

BDiZPQ, AC, SR & il

BrApPQ

2HDOA

APQ

AC
, Bp(1) 1:2 2) 3em
F (3) 4em
EFar(l) MiZAB®OHET, MN/BC

Ih, NEIDCoOwKEEL b,

(2) AADN & ALCNIZBWT, Xt
WALD, '
ZAND=ZLNC

AD/LC LY,
LADN=/ZLCN
(1) b, DN=CN
L oT, AADN=ALCN
AD=CL=3(cm)
(3) AABLZBWT,

=1BL= %(5+3) —4(cm)

MN

DA PEEREIE®  psost

“3 Epi1} 8cm (2) 4em

3) 2:3 (4) %-cm

(3
@%b(l) 2:1 (2 1:2 {3) 3:1

> 3) GEé%DF, DF=%AE k.

GE=-+AE
B»(1) DE FC
EC
ED
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(2} 6em

€E¥D»(2) ABGDT, WAMKERLLY,
DG=2EC=8(cm)
AAECT,

DF=%EC=2(cm)

£oT,
FG=DG—DF
=8—2=6(cm)
E.!i Bei1) 1:2
=¥ (2} MA PB
AB
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Ep(l) z=6 y=8
(2) =2 y=16
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8r=48
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ABCE T, mRilsEEML D,
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4x=18
r=4.5

(4) r:8=4:6
6xr=32




18
3
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€EE5»(1) BP:PD=BL:AD
=1:2
BP:BD=1:3
BP=3-BD=8(cm)
(2) AC:BDOXARXELTAE,
AC#NM, DM=MC kb,

DQ= -%-DE=6 (cm)

(3) PQ=BD—BRP—DQ
=24—8—6=10(cm)

- |
25 HIREBROHDEEHE) poass
m.”l) 6 cm (2) 3em
€EFo»2) (1)L, DF=6cm
ADEF ¢, WaEEEELY,
BG=1DF =1 x6=3(cm)
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